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Tolalquestions in exam: 40 | Answered: 27

Question No. J5

Which epithelal issue lines the esophagus?

IN
stratined squamous

Cargic muscles

Simple squamous

simple columnat
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Question No. 34

Which of the following contains hydrolytic enzymes?

O Vacuole
© Lysosome

~ Golgi apparatus
mitochondrion
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: |
') Question No. 33

Energy released from oxidative phosphorylation is ...

28 ATP molecules

16 ATP molecules
-4 ATP molecules

38 ATP Molecules
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Question No. 5

What is pollination?

“j © None of them

' @ The transfer of polien from anther to stigma
© The transfer of pollen from stigma to ovary
O The transfer of polien from stigma to anther






Question No. 3

the organs which grows after fertilization into fruit is..

- © stamens
© ovary
O stigma
O style






' Question No. 1

' Sclerenchyma cells have thick walls usually strengthened with. ...

O cChitin
O Cellulose and lignin
O Lignin

O Cellulose
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Question No. 33

Each glucose molecule produce

40 ATP

38 ATP
34 ATP
32 ATP






Question No. 31 | | st

The fluid-mosaic model of the cell membraneisa .....--

@ Bilayer of primary proteins with embedded lipids

© Tri-layer of phospholipid with embedded proteins

© Bi-layer of phospholipid with embedded proteins

© Mono-layer of phospholipid with embedded proteins






Question No. 30

In the large intestine.

O Bile is released

O water is absorbed from un-digested food
© Food is digested

' Saliva is produced
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- Question No. 29

The RNAisa.............whiletheDNAIsa ...............

© Single-strand, single helix

' Double-stranded, single-strand
“ Double-stranded, double helix
' Single-strand, double helix
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Question No. 28

in DNA - Adenine (A) pans with
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' Question No. 27

~ Cellular drinking is called

© All the answers are correct
O Exocytosis

© Phagocytosis

© Pinocytosis
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Question No. 26

Which type of blood vessels carmes blood away from the heart?

O None of them
W Capillanes
< Veins

Arteres






Question No. 25

[he major function of enzymes IS

) None of them
' Delense
Catalyst

Protective
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Question No. 24

The largest respiratory ofgan s __
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Question No 22

WHICH of the Tollowing membrane activities require engrgy rom AT P7?

:
SEMOvement of carbon dioxkie outskle | [
S MOovement of walter into a cell
S MOvement of glucose mokecuios

NAa IOns moving out of the cell






Question No. 22

Which of the following is involved in protein synthesis?

© All answers are correct
© DNA

' Ribosomes

“ m-RNA
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" Question No. 21

When we inhale

© Our chest relaxes — diaphragm moves up
O Our chest expands — diaphragm moves down
“ Our chest relax — diaphragm moves down

< Our chest expands — diaphragm moves up
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Question No. 33

28 ATP molecules
16 ATP molecules
4 ATP molecules

38 ATP Molecules
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Energy released from oxidative phosphorylation is ...
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Question No. 33

Each glucose molecule produce

40 ATP
38 ATP
34 ATP
32 ATP






Question No. 22

Which of the following is involved in protein synthesis?

© All answers are correct
© DNA

' Ribosomes

“ m-RNA





